Topological Methods in Nonlinear Analysis Journal of the Juliusz Schauder Center Volume 26, 2005, 17–33

# PARAMETER DEPENDENT PULL-BACK OF CLOSED DIFFERENTIAL FORMS AND INVARIANT INTEGRALS

JEAN MAWHIN

Dedicated to the memory of Olga Ladyzhenskaya

ABSTRACT. We prove, given a closed differential k-form  $\omega$  in an arbitrary open set  $D \subset \mathbb{R}^n$ , and a parameter dependent smooth map  $F(\cdot, \lambda)$  from an arbitrary open set  $G \subset \mathbb{R}^m$  into D, that the derivative with respect to  $\lambda$  of the pull-back  $F(\cdot, \lambda)^* \omega$  is exact in G. We give applications to various theorems in topology, dynamics and hydrodynamics.

#### 1. Introduction

It is well known that a closed differential form (cocycle) on a set  $D \subset \mathbb{R}^n$ needs not be exact (coboundary) on D [8], [15]. The converse of Poincaré's lemma implies that it is the case if D is simply connected. In recent papers [9], [10], it has been shown that given a differential *n*-form  $\omega$  on  $D \subset \mathbb{R}^n$ , which necessarily is a cocycle, the derivative with respect to  $\lambda$  of its pull-back  $F(\cdot, \lambda)^* \omega$ by a  $C^2$  parameter dependent mapping  $F(\cdot, \lambda): G \subset \mathbb{R}^n \to D \subset \mathbb{R}^n$  is always a coboundary. This result allows a simple and complete proof of a lemma on the invariance of an integral stated and proved in a special case by Tartar [16] and reproduced in [2]. This lemma was used in [9] to obtain the homotopy invariance of Brouwer degree, and in [10] to give elementary proofs of various existence and fixed point theorems.

©2005 Juliusz Schauder Center for Nonlinear Studies

17

<sup>2000</sup> Mathematics Subject Classification. 58A10, 26B20, 76B47, 47J15.

 $Key\ words\ and\ phrases.$  Differential forms, invariant integrals, bifurcation, Kelvin theorem, Helmholtz theorem.

In this paper, we want to show that the above mentioned property holds indeed for any k-cocycle on  $D \subset \mathbb{R}^n$  and any  $C^2$  parameter dependent mapping  $F(\cdot, \lambda): G \subset \mathbb{R}^m \to D \subset \mathbb{R}^n$  (Theorem 61). The given proof is a lengthy and tedious computation, which is substantially shorter only for k = 1 and for k = n. For the readers uniquely interested in those situations, we have explicited the proof for k = 1 (Theorem 4.1) and reproduced, for the sake of completeness, the proof for k = n given in [10] (Theorem 5.1).

For k = 1, we give as direct applications simple proofs of the *n*-dimensional generalization of a theorem on the invariance of the circulation of a perfect fluid due to Lord Kelvin [17] (see also [6]), and of Cauchy integral theorem for holomorphic functions. For k = n - 1, Theorem 61 generalizes a result of Hatziafratis and Tsarpalias [3] obtained for the (n-1) solid angle form occuring in the definition of Kronecker's index. For k = n, we complete the applications given in [10] by an elementary proof of a Poincaré–Krasnosel'skiĭ bifurcation theorem in finite dimension.

In some physical situations, the family of pull-back transformations is parametrized by time and is given by the flow associated to an evolution equation. We show in two classical examples, Liouville's theorem in dynamics [7] and Helmholtz theorem in hydrodynamics [4] (see also [14]), how those classical results follow from the same type of reasonings (Theorems 7.1 and 8.2). Those results belong of course to Poincaré's theory of integral invariants (see [12] and [13]), which also can be related to the considerations developed here.

#### 2. Parameter dependent differential forms

We first recall a few elementary facts and results on differential forms [8], [15]. If  $D \subset \mathbb{R}^n$  is open and  $0 \le k \le n$  is an integer, we consider the differential k-form of class  $C^l$  in D  $(l \ge 0)$ 

$$\omega = \sum_{1 \le i_1 < \ldots < i_k \le n} w_{i_1 \ldots i_k} \, dx_{i_1} \wedge \ldots \wedge dx_{i_k},$$

where the real functions  $w_{i_1...i_k}$  are of class  $C^l$  on D. If  $G \subset \mathbb{R}^m$  is open and  $T: G \to D$  is of class  $C^1$ , the *pull-back*  $T^*\omega$  is the differential k-form in G defined by

$$T^*\omega = \sum_{1 \le i_1 < \ldots < i_k \le n} (w_{i_1 \ldots i_k} \circ T) \, dT_{i_1} \wedge \ldots \wedge dT_{i_k},$$

where  $dT_i$  is the differential 1-form on G defined by  $dT_i = \sum_{j=1}^m \partial_j T_i \, dy_j$ . If  $\omega$  is of class  $C^1$ , the *exterior differential*  $d\omega$  of  $\omega$  is the differential (k+1)-form in D defined by

$$d\omega = \sum_{1 \le i_1 < \ldots < i_k \le n} dw_{i_1 \ldots i_k} \wedge dx_{i_1} \wedge \ldots \wedge dx_{i_k},$$

where  $dw_{i_1...i_k} = \sum_{j=1}^n \partial_j w_{i_1...i_k} dx_j$ . Explicitly, with

$$1 \le i_1, \ldots, i_k, j_1, \ldots, j_{k+1}, j \le n_j$$

we have

$$d\omega = \sum_{j_1 < \dots < j_{k+1}} \left[ \sum_{l=1}^{k+1} (-1)^{l-1} \partial_{j_l} w_{j_1 \dots \hat{j_l} \dots j_{k+1}} \right] dx_{j_1} \wedge \dots \wedge dx_{j_{k+1}},$$

where the symbol  $\widehat{}$  means that the corresponding term is missing. When  $\omega$  is of class  $C^1$ ,  $\omega$  is *closed* or is a *k*-cocycle if  $d\omega = 0$ , which, by the computation above, is equivalent to the set of conditions

(2.1) 
$$\sum_{l=1}^{k+1} (-1)^{l-1} \partial_{j_l} w_{j_1 \dots \hat{j_l} \dots j_{k+1}} = 0 \quad (1 \le j_1 < j_2 < \dots < j_{k+1} \le n).$$

Consider now a parameter dependent differential k-form in  $D \subset \mathbb{R}^n$ 

$$\mu(\lambda) = \sum_{1 \le i_1 < \ldots < i_k \le n} m_{i_1 \ldots i_k}(\cdot, \lambda) \, dx_{i_1} \wedge \ldots \wedge dx_{i_k}$$

whose coefficients

$$m_{i_1\dots i_k}: D \times [a, b] \to \mathbb{R}, \quad (x, \lambda) \mapsto m_{i_1\dots i_k}(x, \lambda)$$

are of class  $C^1$  on  $D \times [a, b]$ .

DEFINITION 2.1. The partial derivative  $\partial_{\lambda}\mu$  of  $\mu(\lambda)$  with respect to  $\lambda$  is the differential k-form in D

$$\partial_{\lambda}\mu(\lambda) := \sum_{1 \le i_1 < \ldots < i_k \le n} \partial_{\lambda} m_{i_1 \ldots i_k}(\,\cdot\,,\lambda) \, dx_{i_1} \wedge \ldots \wedge dx_{i_k}.$$

It follows easily from this definition that if  $f\colon D\times [a,b]\to \mathbb{R}$  and

$$\nu(\lambda) = \sum_{1 \le j_1 < \ldots < j_l \le n} n_{j_1 \ldots j_l}(\cdot, \lambda) \, dx_{j_1} \wedge \ldots \wedge dx_{j_l},$$

are of class  $C^1$  on  $D \times [a, b]$ , then

(2.2) 
$$\partial_{\lambda}[f(\cdot,\lambda)\mu(\lambda)] = \partial_{\lambda}f(\cdot,\lambda)\mu(\lambda) + f(\cdot,\lambda)\partial_{\lambda}\mu(\lambda),$$

(2.3) 
$$\partial_{\lambda}[\mu(\lambda) \wedge \nu(\lambda)] = \partial_{\lambda}\mu(\lambda) \wedge \nu(\lambda) + \mu(\lambda) \wedge \partial_{\lambda}\nu(\lambda),$$

and if  $\mu(\lambda)$  is of class  $C^2$ , then

(2.4) 
$$\partial_{\lambda}[d\mu(\lambda)] = d[\partial_{\lambda}\mu(\lambda)].$$

### 3. Parameter dependent pullback of a differential form

If  $D\subset \mathbb{R}^n$  is open and  $0\leq k\leq n$  is an integer, let us consider the differential k-form in D

$$\omega = \sum_{1 \le i_1 < \ldots < i_k \le n} w_{i_1 \ldots i_k} \, dx_{i_1} \wedge \ldots \wedge dx_{i_k}$$

If  $G \subset \mathbb{R}^m$  is open and if  $F: G \times [a, b] \mapsto D$  is of class  $C^2$ , we consider for each  $\lambda \in [a, b]$  the pull-back  $F(\cdot, \lambda)^* \omega$  of  $\omega$  by  $F(\cdot, \lambda)$ 

(3.1) 
$$F(\cdot,\lambda)^*\omega := \sum_{1 \le i_1 < \dots < i_k \le n} (w_{i_1\dots i_k} \circ F)(\cdot,\lambda) \, dF_{i_1} \wedge \dots \wedge dF_{i_k},$$

where we write

$$dF_i = dF_i(\cdot, \lambda) = \sum_{l=1}^m \partial_l F_i(\cdot, \lambda) \, dy_l.$$

Notice that, by formula (2.4), we have

(3.2) 
$$\partial_{\lambda}(dF_i) = d(\partial_{\lambda}F_i).$$

LEMMA 3.1. If the differential k-form  $\omega$  is of class  $C^1$  on D, and  $F: G \times [a,b] \to D$  is of class  $C^2$ , then, with  $1 \leq i_1, \ldots, i_k \leq n$ ,

$$(3.3) \quad \partial_{\lambda}[F(\cdot,\lambda)^{*}\omega] = \sum_{i_{1}<\ldots< i_{k}} \sum_{j=1}^{n} (\partial_{j}w_{i_{1}\ldots i_{k}} \circ F)\partial_{\lambda}F_{j} dF_{i_{1}} \wedge \ldots \wedge dF_{i_{k}}$$
$$+ \sum_{i_{1}<\ldots< i_{k}} (w_{i_{1}\ldots i_{k}} \circ F) \sum_{l=1}^{k} (-1)^{l-1}d[\partial_{\lambda}F_{i_{l}} dF_{i_{1}} \wedge \ldots \wedge \widehat{dF_{i_{l}}} \wedge \ldots \wedge dF_{i_{k}}]$$

PROOF. Using formulas (2.2) and (3.2), we get, if  $\omega$  is of class  $C^1$  in D, and  $1 \leq i_1, \ldots, i_k \leq n, 1 \leq j_1, \ldots, j_{k+1} \leq n$ ,

$$\begin{aligned} \partial_{\lambda}[F(\cdot,\lambda)^{*}\omega] &= \partial_{\lambda} \bigg[ \sum_{i_{1}<\ldots< i_{k}} (w_{i_{1}\ldots i_{k}} \circ F) \, dF_{i_{1}} \wedge \ldots \wedge dF_{i_{k}} \bigg] \\ &= \sum_{i_{1}<\ldots< i_{k}} \partial_{\lambda} (w_{i_{1}\ldots i_{k}} \circ F) \, dF_{i_{1}} \wedge \ldots \wedge dF_{i_{k}} \\ &+ \sum_{i_{1}<\ldots< i_{k}} (w_{i_{1}\ldots i_{k}} \circ F) \sum_{l=1}^{k} dF_{i_{1}} \wedge \ldots \wedge d(\partial_{\lambda}F_{i_{l}}) \wedge \ldots \wedge dF_{i_{k}} \\ &= \sum_{i_{1}<\ldots< i_{k}} \sum_{j=1}^{n} (\partial_{j}w_{i_{1}\ldots i_{k}} \circ F) \partial_{\lambda}F_{j} \, dF_{i_{1}} \wedge \ldots \wedge dF_{i_{k}} \\ &+ \sum_{i_{1}<\ldots< i_{k}} (w_{i_{1}\ldots i_{k}} \circ F) \sum_{l=1}^{k} (-1)^{l-1} d[\partial_{\lambda}F_{i_{l}} \, dF_{i_{1}} \wedge \ldots \wedge dF_{i_{k}}]. \quad \Box \end{aligned}$$

#### 4. The case of 1-cocycle

Let the differential 1-form

(4.1) 
$$\omega = \sum_{j=1}^{n} w_j \, dx_j$$

be of class  $C^1$  on D. By formula (2.1),  $\omega$  is a 1-cocycle if and only if

(4.2) 
$$\partial_i w_j = \partial_j w_i \quad (1 \le i < j \le n).$$

Let  $G \subset \mathbb{R}^m$  be open and  $F: G \times [a, b] \to D$ ,  $(y, \lambda) \mapsto F(y, \lambda)$  be of class  $C^2$ .

THEOREM 4.1. If  $\omega$  is a 1-cocycle of class  $C^1$  on D, then

$$\partial_{\lambda}[F(\cdot,\lambda)^*\omega] := \partial_{\lambda}\bigg[\sum_{j=1}^n (w_j \circ F) \, dF_j\bigg] = d\bigg[\sum_{j=1}^n (w_j \circ F) \partial_{\lambda}F_j\bigg].$$

**PROOF.** We have, using formulas (3.3) and (4.2),

$$\partial_{\lambda}[F(\cdot,\lambda)^{*}\omega] = \sum_{j=1}^{n} \sum_{k=1}^{n} (\partial_{k}w_{j} \circ F) \partial_{\lambda}F_{k} dF_{j} + \sum_{j=1}^{n} (w_{j} \circ F) d(\partial_{\lambda}F_{j})$$

$$= \sum_{j=1}^{n} \sum_{k=1}^{n} (\partial_{j}w_{k} \circ F) \partial_{\lambda}F_{k} dF_{j} + \sum_{k=1}^{n} (w_{k} \circ F) d(\partial_{\lambda}F_{k})$$

$$= \sum_{k=1}^{n} d(w_{k} \circ F) \partial_{\lambda}F_{k} + \sum_{k=1}^{n} (w_{k} \circ F) d(\partial_{\lambda}F_{k})$$

$$= d\left[\sum_{j=1}^{n} (w_{j} \circ F) \partial_{\lambda}F_{j}\right].$$

We now show how Theorem 4.1 imply some classical conservation theorems. The first result for n = 3 is due to Lord Kelvin [17], in the context of hydrodynamics of perfect fluids. Recall that the *circulation* of the differential 1-form  $\omega$  along the 1-simplex  $\varphi: [0, T] \to D$  of class  $C^1$  is defined by the integral

(4.4) 
$$\int_{\varphi} \omega = \int_0^T \varphi^* \omega = \int_0^T \left[ \sum_{j=1}^n u_j(\varphi(s)) \varphi'_j(s) \, ds \right].$$

 $\varphi$  is called a 1-cycle if  $\varphi(0) = \varphi(T)$ .

COROLLARY 4.2. If  $\omega = \sum_{j=1}^{n} w_j dx_j$  is a 1-cocycle of class  $C^1$  on D, and for each  $\lambda \in [a,b], F(\cdot,\lambda): [0,T] \to D$  is a 1-cycle of class  $C^2$  in D, then the circulation of  $\omega$  along  $F(\cdot,\lambda)$ 

(4.5) 
$$\int_{F(\cdot,\lambda)} \omega = \int_0^T \sum_{j=1}^n (w_j \circ F)(y,\lambda) \,\partial_y F_j(y,\lambda) \,dy$$

is independent of  $\lambda$  on [a, b].

PROOF. Using Leibniz' rule and Theorem 4.1, we obtain

$$\partial_{\lambda} \left[ \int_{F(\cdot,\lambda)} \omega \right] = \int_0^T \partial_{\lambda} [F(\cdot,\lambda)^* \omega] = \int_0^T d \left[ \sum_{j=1}^n (w_j \circ F) \partial_{\lambda} F_j \right] = 0,$$

as  $F(\cdot, \lambda)$  is a 1-cycle.

REMARK 4.3. If n = 3 and if  $(w_1, w_2, w_3)$  denotes the field of velocities of the irrotational motion of a perfect fluid, if  $\lambda$  denotes the time and if  $F([a, b], \lambda)$ denotes the time evolution of a closed curve under the motion of the fluid, Corollary 4.2 expresses the constancy of the circulation of the velocity around the closed curve.

A second consequence of Theorem 4.1 is a version of Cauchy's theorem in complex functions theory [8]. Let  $D \subset \mathbb{C}$  be open,  $f: D \to \mathbb{C}$  holomorphic and let

$$\Gamma_j \colon [0,T] \times [a,b] \to D, \quad (y,\lambda) \mapsto \Gamma_j(y,\lambda), \quad (1 \le j \le m)$$

be of class  $C^2$  and such that

$$\Gamma_j(T,\lambda) = \Gamma_{j+1}(0,\lambda), \quad (j=1,\ldots,m-1), \quad \Gamma_m(T,\lambda) = \Gamma_1(0,\lambda), \quad \lambda \in [a,b].$$

So, when  $\lambda$  varies, the family of the  $\Gamma_j(\cdot, \lambda)$  represents a continuous deformation of a piecewise- $C^2$  1-cycle in D.

COROLLARY 4.4. The expression

$$\sum_{j=1}^m \int_{\Gamma_j(\,\cdot\,\,,\lambda)} f(z)\,dz$$

is independent of  $\lambda$  on [a, b].

PROOF. We have, using Leibniz rule and Theorem 4.1,

$$\begin{aligned} \partial_{\lambda} \bigg( \sum_{j=1}^{m} \int_{\Gamma_{j}(\cdot,\lambda)} f(z) \, dz \bigg) &= \sum_{j=1}^{m} \int_{0}^{T} \partial_{\lambda} [\Gamma_{j}^{*}(\cdot,\lambda)(f(z) \, dz)] \\ &= \sum_{j=1}^{m} \int_{0}^{T} d[(f \circ \Gamma_{j})(\cdot,\lambda) \, \partial_{\lambda} \Gamma_{j}] \\ &= \sum_{j=1}^{m} [(f \circ \Gamma_{j})(T,\lambda) \, \partial_{\lambda} \Gamma_{j}(T,\lambda) - (f \circ \Gamma_{j})(0,\lambda) \, \partial_{\lambda} \Gamma_{j}(0,\lambda)] \\ &= (f \circ \Gamma_{m})(T,\lambda) \partial_{\lambda} \Gamma_{m}(T,\lambda) - (f \circ \Gamma_{1})(0,\lambda) \partial_{\lambda} \Gamma_{1}(0,\lambda) = 0. \end{aligned}$$

Let the differential n-form

$$\omega = w \, dx_1 \wedge \ldots \wedge dx_n,$$

be of class  $C^1$  in D. Notice that  $\omega$  is always a *n*-cocycle in D, as  $d\omega$  is a differential (n+1)-form in  $\mathbb{R}^n$ . Let  $G \subset \mathbb{R}^m$  be open and  $F: G \times [a, b] \to D$ ,  $(y, \lambda) \mapsto G(y, \lambda)$  be of class  $C^2$ .

THEOREM 5.1. If  $\omega$  is a differential n-form of class  $C^1$  in D, then

(5.1) 
$$\partial_{\lambda}[F^{*}(\cdot,\lambda)\omega] := \partial_{\lambda}[(w \circ F) dF_{1} \wedge \ldots \wedge dF_{n}]$$
$$= d\left[(w \circ F)\left(\sum_{j=1}^{n} (-1)^{j-1} \partial_{\lambda}F_{j} dF_{1} \wedge \ldots \wedge \widehat{dF_{j}} \wedge \ldots \wedge dF_{n}\right)\right].$$

**PROOF.** We have, using formula (3.3)

$$\begin{split} \partial_{\lambda}[F(\cdot,\lambda)^{*}\omega] &= \left[\sum_{j=1}^{n} (\partial_{j}w \circ F) \partial_{\lambda}F_{j}\right] dF_{1} \wedge \ldots \wedge dF_{n} \\ &+ (w \circ F) \left[\sum_{j=1}^{n} (-1)^{j-1} d(\partial_{\lambda}F_{j} dF_{1} \wedge \ldots \wedge \widehat{dF_{j}} \wedge \ldots \wedge dF_{n})\right] \\ &= \sum_{j=1}^{n} (-1)^{j-1} (\partial_{j}w \circ F) dF_{j} \wedge \partial_{\lambda}F_{j} dF_{1} \wedge \ldots \wedge \widehat{dF_{j}} \wedge \ldots \wedge dF_{n} \\ &+ (w \circ F) \left[\sum_{j=1}^{n} (-1)^{j-1} d(\partial_{\lambda}F_{j} dF_{1} \wedge \ldots \wedge \widehat{dF_{j}} \wedge \ldots \wedge dF_{n})\right] \\ &= \sum_{j=1}^{n} (-1)^{j-1} \left[\sum_{k=1}^{n} (\partial_{k}w \circ F) dF_{k}\right] \\ &\wedge \partial_{\lambda}F_{j} dF_{1} \wedge \ldots \wedge \widehat{dF_{j}} \wedge \ldots \wedge dF_{n} \\ &+ (w \circ F) \left[\sum_{j=1}^{n} (-1)^{j-1} d(\partial_{\lambda}F_{j} dF_{1} \wedge \ldots \wedge \widehat{dF_{j}} \wedge \ldots \wedge dF_{n})\right] \\ &= d(w \circ F) \wedge \left(\sum_{j=1}^{n} (-1)^{j-1} \partial_{\lambda}F_{j} dF_{1} \wedge \ldots \wedge \widehat{dF_{j}} \wedge \ldots \wedge dF_{n}\right) \\ &+ (w \circ F) d\left(\sum_{j=1}^{n} (-1)^{j-1} \partial_{\lambda}F_{j} dF_{1} \wedge \ldots \wedge \widehat{dF_{j}} \wedge \ldots \wedge dF_{n}\right) \\ &= d\left[(w \circ F) \left(\sum_{j=1}^{n} (-1)^{j-1} \partial_{\lambda}F_{j} dF_{1} \wedge \ldots \wedge \widehat{dF_{j}} \wedge \ldots \wedge dF_{n}\right)\right]. \Box \end{split}$$

Like in the previous section, one deduces from Theorem 5.1 the following invariance result.

COROLLARY 5.2. Let  $\omega = w \, dx_1 \wedge \ldots \wedge dx_n$  be a differential *n*-form of class  $C^1$  in the open set  $D \subset \mathbb{R}^n$ ,  $G \subset \mathbb{R}^n$  be open and bounded and  $F: \overline{G} \times [a, b] \to D$  be of class  $C^2$ . If, for each  $\lambda \in [a, b]$ , one has

(5.2) 
$$\operatorname{supp} \omega \cap F(\cdot, \lambda)(\partial G) = \emptyset,$$

then the integral

(5.3) 
$$\int_G F(\cdot,\lambda)^* \omega = \int_G [w \circ F(y,\lambda)] \operatorname{Jac} F(y,\lambda) \, dy$$

is independent of  $\lambda$  on [a, b].

As an application of Corollary 5.2, let us give an elementary proof of a fundamental bifurcation result which can be traced to Poincaré [11] and Krasnosel'skiĭ [5]. Let  $f: \mathbb{R}^n \times \mathbb{R} \to \mathbb{R}^n$  be continuous and such that  $f(0, \lambda) = 0$  for each  $\lambda \in \mathbb{R}$ , and consider the family of equations

(5.4) 
$$f(x,\lambda) = 0$$

DEFINITION 5.3.  $(0, \lambda_0)$  is a bifurcation point for (5.4) if

$$(5.5) \qquad (\forall r > 0)(\exists (x,\lambda) \in (B[0,r] \setminus \{0\}) \times [\lambda_0 - r, \lambda_0 + r]) : f(x,\lambda) = 0$$

THEOREM 5.4. Let  $A: \mathbb{R} \to \mathcal{L}(\mathbb{R}^n, \mathbb{R}^n)$  be continuous and  $R: \mathbb{R}^n \times \mathbb{R} \to \mathbb{R}$ be continuous and such that

(5.6) 
$$\lim_{x \to 0} \frac{R(x,\lambda)}{\|x\|} = 0,$$

uniformly on compact intervals of  $\mathbb{R}$ . Assume that there exists a < b such that

$$(5.7) \qquad \det A(a) \det A(b) < 0$$

Then (5.4) with

$$f(x,\lambda) := A(\lambda)x + R(x,\lambda)$$

has a bifurcation point in  $\{0\} \times [a, b]$ .

PROOF. Notice first that if  $(0, \lambda_0)$  is not a bifurcation point for (5.4), then there exists  $r = r(\lambda_0) > 0$  such that  $f(x, \lambda) \neq 0$  for all  $x \in B[0, r] \setminus \{0\}$  and all  $\lambda \in [\lambda_0 - r, \lambda_0 + r]$ . Hence, an easy compactness argument implies that if (5.4) has no bifurcation point in  $\{0\} \times [a, b]$ , then

$$(5.8) \qquad (\exists r > 0)(\forall x \in B[0; r] \setminus \{0\})(\forall \lambda \in [a, b]) : f(x, \lambda) \neq 0.$$

Now, by assumptions, there exists  $\alpha > 0$  such that, for all  $x \in \mathbb{R}^n$ ,

$$|A(a)x|| \ge \alpha ||x||, \quad ||A(b)x|| \ge \alpha ||x||,$$

and there exists  $r_1 \in ]0, r]$  such that, for all  $x \in B[0, r_1]$  and all  $\lambda \in [a, b]$ , one has

$$||R(x,\lambda)|| \le \frac{\alpha}{2} ||x||.$$

Consequently, for all  $x \in \partial B(0, r_1)$ , and all  $\mu \in [0, 1]$ , one has

(5.9) 
$$||g_c(x,\mu)|| := ||A(c)x + \mu R(x,c)|| \ge \frac{\alpha}{2}r_1 := \alpha_1, \quad c = a, b.$$

Now, it follows from relation (5.8) that there exists  $\alpha_2 > 0$  such that, for all  $x \in \partial B(0, r_1)$  and all  $\lambda \in [a, b]$ , one has

$$\|f(x,\lambda)\| \ge \alpha_1.$$

Let  $\alpha_3 := \min\{\alpha_1, \alpha_2\}$  and  $w \in C^1(\mathbb{R}^n, \mathbb{R}_+)$  be such that  $\operatorname{supp} w \subset B(0, \alpha_3)$ and

(5.11) 
$$\int_{\mathbb{R}^n} w(x) \, dx = 1.$$

A first application of Corollary 5.2 to the family of pull-backs  $f(\,\cdot\,,\lambda),\,\lambda\in[a,b]$  implies that

(5.12) 
$$\int_{B(0,r)} (w \circ f)(y,a) \operatorname{Jac} f(y,a) \, dy = \int_{B(0,r)} (w \circ f)(y,b) \operatorname{Jac} f(y,b) \, dy$$

A second application of Corollary 5.2 to the families of pull-backs  $g_a(\,\cdot\,,\mu)$ ,  $g_b(\,\cdot\,,\mu)$ ,  $\mu\in[0,1]$  implies that

(5.13) 
$$\int_{B(0,r)} (w \circ f)(y, a) \operatorname{Jac} f(y, a) dy$$
$$= \int_{B(0,r)} (w \circ g_a)(y, 1) \operatorname{Jac} g_a(\cdot, 1) dy$$
$$= \int_{B(0,r)} (w \circ g_a)(y, 0) \operatorname{Jac} g_a(\cdot, 0) dy$$
$$= \int_{B(0,r)} (w \circ A(a))(y) \det A(a) dy = \operatorname{sign} \det A(a),$$

(5.14) 
$$\int_{B(0,r)} (w \circ f)(y,b) \operatorname{Jac} f(y,b) \, dy$$
$$= \int_{B(0,r)} (w \circ g_b)(y,1) \operatorname{Jac} g_b(\cdot,1) \, dy$$
$$= \int_{B(0,r)} (w \circ g_b)(y,0) \operatorname{Jac} g_b(\cdot,0) \, dy$$
$$= \int_{B(0,r)} (w \circ A(b))(y) \operatorname{det} A(b) \, dy = \operatorname{sign} \operatorname{det} A(b).$$

where we have used the change of variables rule in a multiple integral and condition (5.11). The contradiction follows from relations (5.12)–(5.14) and assumption (5.7).  $\hfill \Box$ 

### 6. The case of a *k*-cocycle

Let the differential k-form

$$\omega = \sum_{1 \le i_1 < \ldots < i_k \le n} w_{i_1 \ldots i_k} \, dx_{i_1} \wedge \ldots \wedge dx_{i_k}$$

be of class  $C^1$  in an open set  $D \subset \mathbb{R}^n$ . Recall that  $\omega$  is a k-cocycle if and only if relations (2.1) hold. Let  $G \subset \mathbb{R}^m$  be open and let  $F: G \times [a, b], (y, \lambda) \mapsto F(y, \lambda)$  be of class  $C^2$ .

THEOREM 6.1. If  $\omega$  is a k-cocycle in D, then, with  $1 \leq i_1, \ldots, i_k \leq n$ ,

$$(6.1) \quad \partial_{\lambda}[F(\cdot,\lambda)^{*}\omega] := \partial_{\lambda} \bigg[ \sum_{i_{1} < \ldots < i_{k}} (w_{i_{1}\ldots i_{k}} \circ F) \, dF_{i_{1}} \wedge \ldots \wedge dF_{i_{k}} \bigg]$$
$$= d \bigg[ \sum_{i_{1} < \ldots < i_{k}} (w_{i_{1}\ldots i_{k}} \circ F) \sum_{j=1}^{k} (-1)^{j-1} \partial_{\lambda} F_{i_{j}} \, dF_{i_{1}} \wedge \ldots \wedge \widehat{dF_{i_{j}}} \wedge \ldots \wedge dF_{i_{k}} \bigg]$$

PROOF. To simplify some heavy notations in this proof, we write

$$\sum_{I} \quad \text{for} \quad \sum_{1 \leq i_1 < \ldots < i_k \leq n}, \qquad \sum_{J} \quad \text{for} \ \sum_{1 \leq j_1 < \ldots < j_{k+1} \leq n}$$

and, for  $1 \leq i_1, \ldots, i_l, \ldots, i_k \leq n$  and  $1 \leq j_1, \ldots, j_l, \ldots, j_{k+1} \leq n$ , we set  $[\widehat{dF_{i_l}}] = dF_{i_1} \wedge \ldots \wedge \widehat{dF_{i_l}} \wedge \ldots \wedge dF_{i_k}, \quad [\widehat{dF_{j_l}}] = dF_{j_1} \wedge \ldots \wedge \widehat{dF_{j_l}} \wedge \ldots \wedge dF_{j_{k+1}}.$ We have, using formula (3.1),

$$(6.2) \qquad \partial_{\lambda}[F(\cdot,\lambda)^{*}\omega] = d \bigg[ \sum_{I} (w_{i_{1}\dots i_{k}} \circ F) \sum_{l=1}^{k} (-1)^{l-1} \partial_{\lambda} F_{i_{l}} [\widehat{dF_{i_{l}}}] \bigg] + \sum_{I} \sum_{j=1}^{n} (\partial_{j} w_{i_{1}\dots i_{k}} \circ F) \partial_{\lambda} F_{j} dF_{i_{1}} \wedge \dots \wedge dF_{i_{k}} - \sum_{I} d(w_{i_{1}\dots i_{k}} \circ F) \wedge \bigg[ \sum_{l=1}^{k} (-1)^{l-1} \partial_{\lambda} F_{i_{l}} [\widehat{dF_{i_{l}}}] \bigg].$$

Now

$$\sum_{I} \sum_{j=1}^{n} (\partial_{j} w_{i_{1} \dots i_{k}} \circ F) \partial_{\lambda} F_{j} dF_{i_{1}} \wedge \dots \wedge dF_{i_{k}}$$

$$= \sum_{I} \sum_{j < i_{1}} (\partial_{j} w_{i_{1} \dots i_{k}} \circ F) \partial_{\lambda} F_{j} dF_{i_{1}} \wedge \dots \wedge dF_{i_{k}}$$

$$+ \sum_{I} (\partial_{i_{1}} w_{i_{1} \dots i_{k}} \circ F) \partial_{\lambda} F_{i_{1}} dF_{i_{1}} \wedge \dots \wedge dF_{i_{k}}$$

$$+ \sum_{I} \sum_{i_{1} < j < i_{2}} (\partial_{j} w_{i_{1} \dots i_{k}} \circ F) \partial_{\lambda} F_{j} dF_{i_{1}} \wedge \dots \wedge dF_{i_{k}}$$

PARAMETER DEPENDENT DIFFERENTIAL FORMS

$$+ \sum_{I} (\partial_{i_2} w_{i_1 \dots i_k} \circ F) \partial_{\lambda} F_{i_2} dF_{i_1} \wedge \dots \wedge dF_{i_k} + \dots$$

$$+ \sum_{I} \sum_{i_{k-1} < j < i_k} (\partial_j w_{i_1 \dots i_k} \circ F) \partial_{\lambda} F_j dF_{i_1} \wedge \dots \wedge dF_{i_k}$$

$$+ \sum_{I} (\partial_{i_k} w_{i_1 \dots i_k} \circ F) \partial_{\lambda} F_{i_k} dF_{i_1} \wedge \dots \wedge dF_{i_k}$$

$$+ \sum_{I} \sum_{i_k < j} (\partial_j w_{i_1 \dots i_k} \circ F) \partial_{\lambda} F_j dF_{i_1} \wedge \dots \wedge dF_{i_k}.$$

Grouping the terms of similar nature and renaming the multi-indices, we obtain

(6.3) 
$$\sum_{I} \sum_{j=1}^{n} (\partial_{j} w_{i_{1} \dots i_{k}} \circ F) \partial_{\lambda} F_{j} dF_{i_{1}} \wedge \dots \wedge dF_{i_{k}}$$
$$= \sum_{J} \sum_{l=1}^{k+1} (\partial_{j_{l}} w_{j_{1} \dots \widehat{j_{l}} \dots j_{k+1}} \circ F) \partial_{\lambda} F_{j_{l}} [\widehat{dF_{j_{l}}}]$$
$$+ \sum_{I} \sum_{l=1}^{k} (\partial_{i_{l}} w_{i_{1} \dots i_{k}} \circ F) \partial_{\lambda} F_{i_{l}} dF_{i_{1}} \wedge \dots \wedge dF_{i_{k}}.$$

On the other hand, we have

$$\begin{split} &\sum_{I} d(w_{i_{1}...i_{k}} \circ F) \wedge \left[ \sum_{l=1}^{k} (-1)^{l-1} \partial_{\lambda} F_{i_{l}} \left[ \widehat{dF_{i_{l}}} \right] \right] \\ &= \sum_{I} \sum_{j} (\partial_{j} w_{i_{1}...i_{k}} \circ F) \, dF_{j} \wedge \left[ \sum_{l=1}^{k} (-1)^{l-1} \partial_{\lambda} F_{i_{l}} \left[ \widehat{dF_{i_{l}}} \right] \right] \\ &= \sum_{I} \sum_{l=1}^{k} (-1)^{l-1} \left( \sum_{j < i_{1}} + \sum_{i_{1} < j < i_{2}} + \ldots + \sum_{i_{l-1} < j < i_{l}} \right) (\partial_{j} w_{i_{1}...i_{k}} \circ F) \partial_{\lambda} F_{i_{l}} \left[ \widehat{dF_{i_{l}}} \right] \\ &+ \sum_{I} \sum_{l=1}^{k} (-1)^{l-1} (\partial_{i_{l}} w_{i_{1}...i_{k}} \circ F) \partial_{\lambda} F_{i_{l}} \left[ \widehat{dF_{i_{l}}} \right] \\ &+ \sum_{I} \sum_{l=1}^{k} (-1)^{l-1} \left( \sum_{i_{l} < j < i_{l+1}} + \ldots + \sum_{i_{k} < j} \right) (\partial_{j} w_{i_{1}...i_{k}} \circ F) \partial_{\lambda} F_{i_{l}} \left[ \widehat{dF_{i_{l}}} \right]. \end{split}$$

Renaming the indices, we obtain

$$\sum_{I} d(w_{i_1\dots i_k} \circ F) \wedge \left[ \sum_{l=1}^{k} (-1)^{l-1} \partial_{\lambda} F_{i_l} \left[ \widehat{dF_{i_l}} \right] \right]$$
  
= 
$$\sum_{j_2 < \dots < j_{k+1}} \sum_{l=1}^{k} (-1)^{l-1} \sum_{j_1 < j_2} (\partial_{j_1} w_{\widehat{j_1} j_2 \dots j_{k+1}} \circ F) \partial_{\lambda} F_{j_{l+1}} \left[ \widehat{dF_{j_{l+1}}} \right]$$
  
+ 
$$\sum_{j_1 < j_3 < \dots < j_{k+1}} \sum_{l=1}^{k} (-1)^{l-1} \sum_{j_1 < j_2 < j_3} (\partial_{j_2} w_{j_1 \widehat{j_2} j_3 \dots j_{k+1}} \circ F)$$

J. MAWHIN

$$\begin{split} &\cdot \partial_{\lambda} F_{j_{l+1}}\left(-1\right) \left[\widehat{dF_{j_{l+1}}}\right] + \dots \\ &+ \sum_{j_{1} < \dots < \hat{j}_{k} < \dots < \hat{j}_{k-1} < \sum_{l=1}^{k} (-1)^{l-1} \sum_{j_{l-1} < j_{l} < \hat{j}_{l+1}} (\partial_{j_{l}} w_{j_{1} \dots \hat{j}_{l} \dots j_{k+1}} \circ F) \\ &\cdot \partial_{\lambda} F_{j_{l+1}}(-1)^{l-1} \left[\widehat{dF_{j_{l+1}}}\right] \\ &+ \sum_{I} \sum_{l=1}^{k} (\partial_{i_{l}} w_{i_{1} \dots i_{k}} \circ F) \partial_{\lambda} F_{i_{l}} dF_{i_{1}} \wedge \dots \wedge dF_{i_{k}} \\ &+ \sum_{j_{1} < \dots < \hat{j}_{k-1}} \sum_{l=1}^{k} (-1)^{l-1} \left[\widehat{dF_{j_{l+1}}}\right] + \dots \\ &+ \sum_{j_{1} < \dots < \hat{j}_{k-1}} \sum_{l=1}^{k} (-1)^{l-1} \sum_{j_{k} < j_{k+1}} (\partial_{j_{l+1}} w_{j_{1} \dots j_{k}} \circ F) \partial_{\lambda} F_{j_{l+1}}(-1)^{k-1} \left[\widehat{dF_{j_{l+1}}}\right] \\ &= \sum_{l=1}^{k} (-1)^{l-1} \sum_{J} \sum_{s=1}^{l} (-1)^{s-1} (\partial_{j_{s}} w_{j_{1} \dots \hat{j}_{s} \dots j_{k+1}} \circ F) \partial_{\lambda} F_{j_{l+1}}(-1)^{k-1} \left[\widehat{dF_{j_{l+1}}}\right] \\ &+ \sum_{I} \sum_{l=1}^{k} (\partial_{i_{l}} w_{i_{1} \dots i_{k}} \circ F) \partial_{\lambda} F_{i_{l}} dF_{i_{1}} \wedge \dots \wedge dF_{i_{k}} \\ &+ \sum_{l=1}^{k} (-1)^{l-1} \sum_{J} \sum_{s=l+2}^{k-1} (-1)^{s-1} (\partial_{j_{s}} w_{j_{1} \dots \hat{j}_{s} \dots j_{k+1}} \circ F) \partial_{\lambda} F_{j_{l+1}} \left[\widehat{dF_{j_{l+1}}}\right] \\ &= (-1)^{k-1} \sum_{J} \sum_{s=1}^{k} (-1)^{s-1} (\partial_{j_{s}} w_{j_{1} \dots \hat{j}_{s} \dots j_{k+1}} \circ F) \partial_{\lambda} F_{j_{k+1}} \left[\widehat{dF_{j_{k+1}}}\right] \\ &+ \sum_{I} \sum_{s=1}^{k} (-1)^{s-2} (\partial_{j_{s}} w_{j_{1} \dots \hat{j}_{s} \dots j_{k+1}} \circ F) \partial_{\lambda} F_{j_{1}} \left[\widehat{dF_{j_{1}}}\right] \\ &+ \sum_{I} \sum_{s=2}^{k-1} (-1)^{s-2} (\partial_{j_{s}} w_{j_{1} \dots \hat{j}_{s} \dots j_{k+1}} \circ F) \partial_{\lambda} F_{j_{l+1}} \left[\widehat{dF_{j_{l+1}}}\right] \\ &- \sum_{I=1}^{k-1} \sum_{J} (-1)^{2l+1} (\partial_{j_{l+1}} w_{j_{1} \dots \hat{j}_{s} \dots j_{k+1}} \circ F) \partial_{\lambda} F_{j_{l+1}} \left[\widehat{dF_{j_{l+1}}}\right] \\ &- \sum_{l=1}^{k-1} \sum_{J} (-1)^{2l+1} (\partial_{j_{l+1}} w_{j_{1} \dots \hat{j}_{s} \dots j_{k+1}} \circ F) \partial_{\lambda} F_{j_{l+1}} \left[\widehat{dF_{j_{l+1}}}\right]. \end{split}$$

Using relations (2.1), this implies that

$$\sum_{I} d(w_{i_1...i_k} \circ F) \land \left[ \sum_{l=1}^{k} (-1)^{l-1} \partial_{\lambda} F_{i_l} \left[ \widehat{dF_{i_l}} \right] \right]$$
  
=  $(-1)^{k-1} \sum_{J} (-1)^{k+1} (\partial_{j_{k+1}} w_{j_1...j_k} \circ F) \partial_{\lambda} F_{j_{k+1}} \left[ \widehat{dF_{j_{k+1}}} \right]$ 

PARAMETER DEPENDENT DIFFERENTIAL FORMS

$$+\sum_{I}\sum_{l=1}^{k} (\partial_{i_{l}}w_{i_{1}\ldots i_{k}}\circ F)\partial_{\lambda}F_{i_{l}} dF_{i_{1}}\wedge\ldots\wedge dF_{i_{k}}$$
$$+\sum_{J} (\partial_{j_{1}}w_{j_{2}\ldots j_{k+1}}\circ F)\partial_{\lambda}F_{j_{1}} [\widehat{dF_{j_{1}}}]$$
$$+\sum_{l=1}^{k-1}\sum_{J} (\partial_{j_{l+1}}w_{j_{1}\ldots \widehat{j_{l+1}}\circ F)\ldots j_{k+1}}\partial_{\lambda}F_{j_{l+1}} [\widehat{dF_{j_{l+1}}}].$$

Regrouping the terms, we find

$$(6.4) \qquad \sum_{I} d(w_{i_{1}\ldots i_{k}} \circ F) \wedge \left[\sum_{l=1}^{k} (-1)^{l-1} \partial_{\lambda} F_{i_{l}} \left[\widehat{dF_{i_{l}}}\right]\right]$$
$$= \sum_{J} \sum_{l=1}^{k+1} (\partial_{j_{l}} w_{j_{1}\ldots \hat{j_{l}}\ldots j_{k+1}} \circ F) \partial_{\lambda} F_{j_{l}} \left[\widehat{dF_{j_{l}}}\right]$$
$$+ \sum_{I} \sum_{l=1}^{k} (\partial_{i_{l}} w_{i_{1}\ldots i_{k}} \circ F) \partial_{\lambda} F_{i_{l}} dF_{i_{1}} \wedge \ldots \wedge dF_{i_{k}}.$$

Comparing formulas (6.3) and (6.4) finishes the proof.

An interesting consequence of Theorem 6.1 is the following result on the invariance of an integral. For the differential k-form

$$\omega = \sum_{1 \le i_1 < \ldots < i_k \le n} w_{i_1 \ldots i_k} \, dx_{i_1} \wedge \ldots \wedge dx_{i_k},$$

define the *support* of  $\omega$  by

$$\operatorname{supp} \omega = \bigcup_{1 \le i_1 < \ldots < i_k \le n} \operatorname{supp} w_{i_1 \ldots i_k}.$$

COROLLARY 6.2. Let  $\omega$  be a differential k-cocycle of class  $C^1$  in the open set  $D \subset \mathbb{R}^n$ ,  $G \subset \mathbb{R}^k$  be open and bounded and  $F: \overline{G} \times [a, b] \to D$  be of class  $C^2$ . If, for each  $\lambda \in [a, b]$ , one has

(6.5) 
$$\operatorname{supp} \omega \cap F(\cdot, \lambda)(\partial G) = \emptyset,$$

then the integral

(6.6) 
$$\int_G F(\,\cdot\,,\lambda)^*\omega$$

is independent of  $\lambda$  on [a, b].

J. MAWHIN

PROOF. Using Leibniz rule, Theorem 6.1 and Stokes theorem, we get, with

$$\alpha = \sum_{i_1 < \ldots < i_k} (w_{i_1 \ldots i_k} \circ F) \sum_{j=1}^k (-1)^{j-1} \partial_\lambda F_{i_j} \, dF_{i_1} \wedge \ldots \wedge \widehat{dF_{i_j}} \wedge \ldots \wedge dF_{i_k},$$
$$\partial_\lambda \left[ \int_G F(\cdot, \lambda)^* \omega \right] = \int_G \partial_\lambda [F(\cdot, \lambda)^* \omega] = \int_G d\alpha = \int_{\partial G} \alpha = 0.$$

## 7. Liouville theorem

Let  $v: \mathbb{R}^n \to \mathbb{R}^n$  be of class  $C^1$  and, for each  $y \in \mathbb{R}^n$ , let  $x: [0,T] \times \mathbb{R}^n \to \mathbb{R}^n$ ,  $(t,y) \mapsto x(t,y)$  be the unique solution of the Cauchy problem

(7.1) 
$$\frac{dx}{dt} = v(t,x), \quad x(0) = y,$$

so that, for each  $(t, y) \in [0, T] \times \mathbb{R}^n$ , we have

(7.2) 
$$\partial_t x(t,y) = v[t, x(t,y)].$$

If  $\omega = dy_1 \wedge \ldots \wedge dy_n$  is the volume *n*-form, then, for each  $t \in [0, T]$ ,

$$(7.3) \quad [x(t,\,\cdot\,)]^*\omega = dx_1(t,\,\cdot\,) \wedge \ldots \wedge dx_n(t,\,\cdot\,) = \operatorname{Jac} x(t,\,\cdot\,)(y)\,dy_1 \wedge \ldots \wedge dy_n,$$

where, for each fixed  $t \in [0, T]$ ,  $\operatorname{Jac} x(t, \cdot)$  is the Jacobian of  $x(t, \cdot)$ . For each fixed t, div  $v(t, \cdot) = \sum_{j=1}^{n} \partial_j v_j(t, x)$ . The following result can be traced to Liouville [7] (see also [1]).

THEOREM 7.1. For each  $t \in [0, T]$ , we have

(7.4) 
$$\partial_t \{ [x(t, \cdot)]^* \omega \} = [x(t, \cdot)]^* [\operatorname{div} v(t, \cdot) \, dy_1 \wedge \ldots \wedge dy_n]$$

or equivalently

(7.5) 
$$\partial_t [dx_1(t, \cdot) \wedge \ldots \wedge dx_n(t, \cdot)] = \operatorname{div} v[t, x(t, \cdot)] dx_1(t, \cdot) \wedge \ldots \wedge dx_n(t, \cdot)]$$

or equivalently

(7.6) 
$$\partial_t \operatorname{Jac} x(t,y) = \operatorname{div} v[t,x(t,y)] \operatorname{Jac} x(t,y).$$

**PROOF.** Using formulas (3.2) and (7.2), we get

$$\begin{split} \partial_t \{ [x(t,\cdot)]^* \omega \} &= \partial_t [dx_1(t,\cdot) \wedge \ldots \wedge dx_n(t,\cdot)] \\ &= \sum_{j=1}^n dx_1(t,\cdot) \wedge \ldots \wedge d[\partial_t x_j(t,\cdot)] \wedge \ldots \wedge dx_n(t,\cdot) \\ &= \sum_{j=1}^n dx_1(t,\cdot) \wedge \ldots \wedge dv_j [t,x_j(t,\cdot)] \wedge \ldots \wedge dx_n(t,\cdot) \\ &= \sum_{j=1}^n dx_1(t,\cdot) \wedge \ldots \wedge \left[ \sum_{k=1}^n \partial_k v_j [t,x_j(t,\cdot)] dx_k(t,\cdot) \right] \wedge \ldots \wedge dx_n(t,\cdot) \\ &= \left[ \sum_{j=1}^n \partial_j v_j [t,x_j(t,\cdot)] \right] dx_1(t,\cdot) \wedge \ldots \wedge dx_n(t,\cdot) \\ &= [x(t,\cdot)]^* [\operatorname{div} v(t,\cdot) dy_1 \wedge \ldots \wedge dy_n] \\ &= \operatorname{div} v[t,x(t,\cdot)] dx_1(t,\cdot) \wedge \ldots \wedge dx_n(t,\cdot) \\ &= \operatorname{div} v[t,x(t,\cdot)] \operatorname{Jac} x(t,\cdot) dy_1 \wedge \ldots \wedge dy_n. \end{split}$$

and the three formulas easily follow.

## 8. Helmholtz theorem

We present here a *n*-dimensional version of Helmholtz theorem in hydrodynamics [4], [6], [11]. Let

(8.1) 
$$x: [0,T] \times \mathbb{R}^n \to \mathbb{R}^n, \quad (t,y) \mapsto x(t,y)$$

be of class  $C^2$ . For n = 3, in the hydrodynamics setting, it represents the position at time t of a particule located at y for t = 0 (Lagrange's notations). Let

(8.2) 
$$u: [0,T] \times \mathbb{R}^n \to \mathbb{R}^n, \quad (t,x) \mapsto u(t,x)$$

be of class  $C^1$ . For n = 3, in the hydrodynamics setting, it represents the velocity of a point of the fluid located in x at time t (Euler's notations). Consequently, we have, for all  $(t, y) \in [0, T] \times \mathbb{R}^n$ ,

(8.3) 
$$u[t, x(t, y)] = \partial_t x(t, y),$$

Assume that there exists a function  $\psi: [0,T] \times \mathbb{R}^n \to \mathbb{R}$  of class  $C^1$  such that, for all  $(t,y) \in [0,T] \times \mathbb{R}^n$ , one has

(8.4) 
$$\frac{d}{dt}\{u[t, x(t, y)]\} = \nabla_x \psi[t, x(t, y)].$$

For n = 3, in the hydrodynamics setting, those are the equations of motion of the fluid, under the assumption that the external forces depend upon a potential and that the density depends only of the pressure.

J. MAWHIN

LEMMA 8.1. For each  $t \in [0, T]$ , one has

(8.5) 
$$\partial_t \left\{ [x(t,\,\cdot\,)]^* \left[ \sum_{j=1}^n u_j(t,\,\cdot\,) \, dy_j \right] \right\} = \partial_t \left[ \sum_{j=1}^n u_j[t,x(t,\,\cdot\,)] \, dx_j(t,\,\cdot\,) \right]$$
  
 $= d \left[ \psi(t,\,\cdot\,) + \frac{1}{2} \sum_{j=1}^n u_j^2[t,x(t,\,\cdot\,)] \right].$ 

**PROOF.** Using formulations (3.2), (8.3) and (8.4), we get

$$\begin{aligned} \partial_t \bigg[ \sum_{j=1}^n u_j[t, x(t, \cdot)] \, dx_j(t, \cdot) \bigg] \\ &= \sum_{j=1}^n \bigg[ \frac{d}{dt} \{ u_j[t, x(t, \cdot)] \} \, dx_j(t, \cdot) + u_j[t, x(t, \cdot)] \, \partial_t[dx_j(t, \cdot)] \bigg] \\ &= \sum_{j=1}^n [\partial_j \psi[t, x(t, \cdot)] \, dx_j(t, \cdot) + u_j[t, x(t, \cdot)] \, d\{\partial_t x_j(t, \cdot)\}] \\ &= d\psi(t, \cdot) + \sum_{j=1}^n u_j(t, x(t, \cdot) \, du_j[t, x(t, \cdot)] \\ &= d\bigg[ \psi(t, \cdot) + \frac{1}{2} \sum_{j=1}^n u_j^2[t, x(t, \cdot)] \bigg]. \end{aligned}$$

Let  $\gamma: [a, b] \to \mathbb{R}^n$  be a 1-cycle of class  $C^2$  (i.e.  $\gamma(0) = \gamma(1)$ ), so that, for each fixed  $t \in [0, T]$ ,  $x(t, \gamma(\cdot))$  is the 1-cycle of class  $C^2$  which is the image of  $\gamma([a, b])$  at time t under the motion of the fluid. Let us consider now the circulation of the velocity field along  $x(t, \gamma(\cdot))$ ,

(8.6) 
$$C(t) := \int_{x(t,\gamma(\cdot))} \sum_{j=1}^{n} u_j \, dy_j.$$

THEOREM 8.2. The integral (8.6) is constant on [0, T].

PROOF. We have, from Leibniz' rule and formula (8.5),

$$C'(t) = \int_0^T \partial_t \left[ \sum_{j=1}^n u_j[t, x(t, \gamma(s))] \, dx_j[t, \gamma(s)] \right]$$
  
= 
$$\int_0^T d \left[ \psi[t, \gamma(s)] + \sum_{j=1}^n \frac{u_j^2[t, x(t, \gamma(s))]}{2} \right] = 0.$$

#### References

- V.I. ARNOLD, Mathematical Methods of Classical Mechanics, 2nd ed., Springer, New York, 1989.
- I. FONSECA AND W. GANGBO, Degree Theory in Analysis and Applications, Clarendon Press, Oxford, 1995.
- [3] T. HATZIAFRATIS AND A. TSARPALIAS, On the integral giving the degree of a map and a Rouché type theorem, Z. Anal. Anwend. 16 (1997), 239–247.
- H. HELMHOLTZ, Ueber Integrale der hydrodynamischen Gleichungen welche den Wirbelbewegungen entsprechen, J. Reine Angew. Math. 55 (1858), 25–55.
- M. A. KRASNOSEL'SKII, Some problems of nonlinear analysis, Amer. Math. Soc. Transl. (2) 10 (1958), 345–409.
- [6] H. LAMB, Hydrodynamics, 6th ed., Cambridge Univ. Press, Cambridge, 1993.
- [7] J. LIOUVILLE, Note sur la théorie de la variation des constantes arbitraires, J. Math. Pures Appl. 3 (1838), 342–349.
- [8] J. MAWHIN, Analyse. Fondements, techniques, évolution, 2nd ed., De Boeck-Larcier, Bruxelles-Paris, 1997.
- [9] \_\_\_\_\_, A simple approach to Brouwer degree based on differential forms, Advanced Nonlinear Studies 4 (2004), 535–548.
- [10] \_\_\_\_\_, Simple proofs of various fixed point and existence theorems based on exterior calculus, Math. Nachrichten (to appear).
- [11] H. POINCARÉ, Sur l'équilibre d'une masse fluide animée d'un mouvement de rotation, Acta Math. 7 (1885), 259–380.
- [12] \_\_\_\_\_, Sur le problème des trois corps et les équations de la dynamique, Acta Math.
   13 (1890), 1–270.
- [13] \_\_\_\_\_, Les méthodes nouvelles de la mécanique céleste, 3 vol., Gauthier–Villars, Paris, 1892–1899.
- [14] \_\_\_\_\_, Théorie des tourbillons (1893), Carré, Paris.
- [15] M. SPIVAK, Calculus on Manifolds, Benjamin, New York, 1965.
- [16] L. TARTAR, Equations non linéaires. I. Le cas de la dimension finie, Journées X U.P.S., vol. 1, Centre de Mathématiques, Ecole Polytechnique, Paris, 1976–1977, pp. 144–151.
- [17] W. THOMSON (LORD KELVIN), On vortex motions, Trans. Royal Soc. Edinburgh 25 (1869), 217–260.

Manuscript received September 23, 2004

JEAN MAWHIN Université Catholique de Louvain Département de mathématique chemin du cyclotron, 2 B-1348 Louvain-la-Neuve, BELGIUM

E-mail address: mawhin@math.ucl.ac.be

33

TMNA : Volume 26 - 2005 -  $N^{\rm o}\,1$